[image: image1.emf]0


.


5


 


1


 


–


0


.


5


 


–


1


 


y


x


9


0


 


9


0


 


1


8


0


 


1


8


0


 


2


7


0


 


2


7


0


 


3


6


0


 


3


6


0


 


0


.


5


 


0


.


5


 


1


 


1


 


–


0


.


5


 


–


0


.


5


 


–


1


 


–


1


 




0.5 1 –0.5 –1 y

x

90 90 

180 180 

270 270 

360 360 

0.5 0.5 

1 1 

–0.5 –0.5 

–1 –1 

[image: image2.emf]0


.


5


 


1


 


–


0


.


5


 


–


1


 


y


x


9


0


 


9


0


 


1


8


0


 


1


8


0


 


2


7


0


 


2


7


0


 


3


6


0


 


3


6


0


 


0


.


5


 


0


.


5


 


1


 


1


 


–


0


.


5


 


–


0


.


5


 


–


1


 


–


1


 




0.5 1 –0.5 –1 y

x

90 90 

180 180 

270 270 

360 360 

0.5 0.5 

1 1 

–0.5 –0.5 

–1 –1 


[image: image3.emf]p


2


 


 


 


 


3


p


2


 


 


 


 


p


 


 


 


2


p


 


 


 


0


.


5


 


1


 


1


.


5


 


2


 


–


0


.


5


 


–


1


 


–


1


.


5


 


–


2


 


–


2


.


5


 


y


x


0


.


5


 


0


.


5


 


1


 


1


 


1


.


5


 


1


.


5


 


2


 


2


 


–


0


.


5


 


–


0


.


5


 


–


1


 


–


1


 


–


1


.


5


 


–


1


.


5


 


–


2


 


–


2


 


–


2


.


5


 


–


2


.


5


 






2

  

  

3



2

  

  



 

  

2



 

  

0.5 1 1.5 2 –0.5 –1 –1.5 –2 –2.5 y

x

0.5 0.5 

1 1 

1.5 1.5 

2 2 

–0.5 –0.5 

–1 –1 

–1.5 –1.5 

–2 –2 

–2.5 –2.5 


[image: image4.emf]p


2


 


 


 


 


0


.


5


 


1


 


–


0


.


5


 


–


1


 


y


x


0


.


5


 


0


.


5


 


1


 


1


 


–


0


.


5


 


–


0


.


5


 


–


1


 


–


1


 


3


p


2


 


 


 


 


p


 


 


 


2


p


 


 


 






2

  

  

0.5 1 –0.5 –1 y

x

0.5 0.5 

1 1 

–0.5 –0.5 

–1 –1 

3



2

  

  



 

  

2



 

  

The horizontal compression of a trig graph will produce more than two
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solutions for 0 < x < 360°  (or 0 < x < 2π)
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Sketch 
1) y = Cos(2x)



2) Solve Cos(2x) = 0.8  for 0 < x < 360°  














1) Solve  Sin(2x) = 0.6

Let A = 2x       Sin(A) = 0.6

The next two solutions for A = 396.9°  and  A = 503.1°

           So A = 36.9°,    143.1°,    396.9°,    503.1° 

x = A ÷ 2 so x = 18.5° and 71.7° and 198.5° and 251.6°

1) Solve  Cos(3x) = -0.4

3) Solve  Tan(2x) = 1 (in radians)

4) Solve  Cos(0.5x) = 0.7
Solving Trig Equations (D) (all in degrees, 0 ≤ x ≤ 360) 


1) Solve  Sin(2X) = 0.6

2) Solve  Cos(2X) = 0.8

3) Solve  5Tan(2X) = 8.4

4) Solve  Sin(2X) + 3 = 3.85

5) Solve  0.5Cos(0.5X) + 4 = 3.92

Solving Trig Equations (D) Solutions

1) Solve  Sin(2x) = 0.6
Let A = 2x       Sin(A) = 0.6
      A = Sin-1 0.6 = 36.9°  

and  A = 180 – 36.9 = 143.1°
The next two solutions for A = 396.9°  and  A = 503.1°
           So A = 36.9°,    143.1°,    396.9°,    503.1° 

x = A ÷ 2 so x = 18.5° and 71.7° and 198.5° and 251.6°


2) Solve  Cos(2x) = 0.8
3) Solve  5Tan(2x) = 8.4

4) Solve  Sin(2x) + 3 = 3.85


5) Solve  0.5Cos(0.5x) + 4 = 3.92
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Multiple Solutions with Graphs
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